Y6 - Mr Needham and Miss Dean’s Maths 18.05.20 – 22.05.20
[bookmark: _Hlk38397277]Monday 18th May 2020
Questions from myminimaths.co.uk:
5a) _____ = 54  -  33
5b) _____ = 856 -  241
5c) 83 -  25 = _____
5d) 759 -  78 = _____
5e) _____ = 82 - 44
5f) 156 – 117 = _____
5g) _____ = 533 - 370
5h) 97 – 46 = _____
5i) _____ = 984 - 239
5j) 423 – 6 = _____
5k) _____ = 57 - 32
5l) _____ = 903 - 61
5m) 855 – 522 = _____
5n) _____ = 26 - 17
5o) 93 – 55 = _____
[image: ]5p) _____ = 82 - 25

Video to help: 
https://myminimaths.co.uk/arithmetic-16-practice-question-5/ 
[image: ] 
Answers: https://myminimaths.co.uk/arithmetic-16-answers-question-5/
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	LO: To identify common factors

	Tuesday 19th May 2020

	Star words:   multiples                factors              greatest             least
common                product                     multiply                  arrays         



	Fluency
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	Reasoning 

	[image: ]
	[image: ]

	[image: ]
	



















	Problem Solving
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	Miss Dean has 60 sweets that she gives away to her friends.

She shares them equally between her friends.

How many friends could Miss Dean have?
	



	Challenges
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	LO: To identify common multiples.

	Wednesday 20th May 2020

	Star words:   multiples                factors              greatest             least
common                product                     multiply                  arrays         



	Fluency

	[image: ]
List 5 common multiples of…
1) 3 and 4                                                                   2) 4 and 8
3) 3 and 6                                                                   4) 2 and 6
5) 5 and 10                                                                 6) 4 and 6



	Reasoning 

	[image: ]
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	Problem Solving
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	A man smiles at her wife every 3 seconds while the wife smiles back every 6 seconds. When will both husband and wife smile at each other at the same time?

	A manager at a restaurant can buy hamburger buns in packages of 8 and hamburger patties in packages of 6. Suppose the manager cannot buy part of a packages. What is the least number of packages of each product he can buy to have an equal number of hamburger patties and buns? 

	Challenges
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	LO: To identify prime numbers.

	Thursday 21st May 2020

	Star words:   prime           factors            multiples            prime factor         lowest common factor                highest common factor       


	Fluency
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	Reasoning 
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	Problem Solving
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	Challenge
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Friday 22nd May 2020
Arithmetic
	1) 934 + 100
	10)     -        

	2) 345 x 4
	11) 216 ÷ 8

	3) 8.6 + 0.6
	12) 5.98 x 100

	4) 29 x 5
	13) 8²

	5) 2,452 + 573
	14) 30,000 - 700

	6) 63 ÷ 7
	15) 1000 x 60

	7) 846 - 9
	16) 720 ÷ 9

	8) 8.3 + 0.08
	17) 40% of 1,700

	9) 5 x 6 x 2
	18) 3.59 x 4
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Here is an example of a factor bug for 12
Complete the factor bug for 36
112

2 6 M 18

3 4 9

Are all the factors in pairs?
Draw your own factor bugs for 16, 48, 56 and 35
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. Use arrays to find the common factors of 12 and 15
Can we arrange each number in counters in one row?

Yes- so they have a common factor of one.
Can we arrange each number in counters in two equal rows?

We can for 12,50 2 is a factor of 12, but we can't for 15,s0 2 is not a
factor of 15, meaning 2 is not a common factor of 12 and 15
Continue to work through the factors systematically until you find
all the common factors.

. Fillin the Venn diagram to show the factors of 20 and 24

Where are the common factors of 20 and 24?
Use a Venn diagram to show the common factors of 9 and 15
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Tommy says
The greater the
number, the
more factors it
will have.

Is Tommy correct?

Use arrays to explain your answer.
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There are 49 pears and 56 oranges.

2 o

They need to be put into baskets of pears
and baskets of oranges with an equal
number of fruit in each basket.

Amir says,

There will be 8 pieces of
fruit in each basket.

Jack says,

There will be 7 pieces of
fruit in each basket. &

Who is correct? Explain how you know.
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True or False?

1is a factor of every number.

1is a multiple of every number.

0'is a factor of every number.

0 is a multiple of every number.
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I am thinking of two 2-digit numbers.

Both of the numbers have a digit total of
six.

Their common factors are:
1,2,3,4,6,and 12

What are the numbers?
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Some numbers are equal to the sum of
all their factors (not including the number
itself).

eg 6

6 has 4 factors, 1,2, 3and 6

Add up all the factors not including 6
itself.

1+2+3=6

6is equal to the sum of its factors (not
including the number itself)

How many other numbers can you find
that are equal to the sum of their
factors?

Which numbers are less than the sum of
their factors?

Which numbers are greater than the sum
of their factors?
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I'have a bag with 4 tokens inside. Each token has a
different number on. I pull out 3 tokens and multiply the
numbers together fo find their product. | put them back
in the bag and repeat, here are my results.

Pass 1: 132

Pass 2: 330
Pass 3: 60

Find what the original 4 numbers may have been..
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. On a 100 square, shade the
first 5 multiples of 7 and then

the first 8 multiples of 5

What common multiple of 7 and 5
do you find?

Use this number to find other
common multiples of 7 and 5
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Work out the headings for the Venn
diagram.

4 /2N 1B\
84 |
28\48 | 42

Add in one more number to each section.

Can you find a square number that will go
in the middle section of the Venn
diagram?
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Chen uses these digit cards.

She makes a 2-digit number and a 1-digit number.
She multiplies them together.
Her answer is a multiple of 10

What could Chen’s multiplication be?
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A train starts running from Leeds to York
at 7am.

The last train leaves at midnight.

Platform 1 has a train leaving from it
every 12 minutes.

Platform 2 has one leaving from it every
5 minutes.

How many times in the day would there
be a train leaving from both platforms at
the same time?
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Here is a 100 grid with some numbers shaded:

1 2 3

1 12 13
. 22 2

31 32 33

41 . 43

51 52 53

61 62 . 64

72

81 82 83

What do all the numbers shaded blue have in common?
What do you notice about all the numbers shaded pink?
Can you work out why two of the numbers are shaded in a maroon colour?
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I Use counters to find the factors of the following numbers.
5 13 17 23
What do you notice about the arrays?

I§ A prime number has exactly 2 factors, one and itself. A composite

number can be divided by numbers other than 1and itself to give a
whole number answer.

Sort the numbers into the table.
2])(3]) (5] (9] (5] (2¢]) (22] (30]

Put two of your own numbers into the table.
Why are two of the boxes empty?
Would 1 be able to go in the tablet? Why or why not?
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B List all of the prime numbers between 10 and 30

W The sum of two prime numbers is 36
What are the numbers?
B All numbers can be broken down into prime factors.

A prime factor tree can help us find them.
Complete the prime factor tree for 20
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Dora says all prime numbers
have to be odd. 6

Her friend Amir says that means all odd
numbers are prime, so 9, 27 and 45 are

prime numbers.
o)

Explain Amir's and Dora's mistakes and
correct them.
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Shade in the multiples of 6 on a 100
square.

What do you notice about the numbers
either side of every multiple of 6?

Eva says,

I noticed there is always a
prime number next to a
multiple of 6

Is she correct?
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. The sum of two prime numbers is 36

What are the numbers?
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Use the clues to work out the number.
* ltis greater than 10

* Itis an odd number

« Itis not a prime number

*  ltis less than 25

* Itis afactor of 60
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Even numbers

Venn diagram
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